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INSTRUCTIONS TO CANDIDATES:

Q

This paper consists of two examination items. Answer all the items in the spaces
Q.

prvided.

Dgiwings should be made in the spaces provided. Use sharp pencils for your drawings.
C&8oured pencils or crayons should not be used.

N@addiﬁwm/ sheets of writing paper are to be inserted in the booklet.

D
Wegk on additional sheets will not be scored.
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Iten'g

. -:;ﬂn.‘_-b and Simon are farmers in Kiviki village. who pl
- QU the Jagy Planting scason.

They i F feptill
'Y Coth type of fertilizer.

3 applied the same
a = TN L7 » A ¥al i .
N 2s used the fecommended concentration and his pl

20c¢ 1 harvegt, hat it

TERY 2 e .1 . i : 1a l
I.’t),\;"\ €r. Simon ygel twice the recommended concentration, S
ields.

anted Irish potatoes at the same ‘i"?e

ants grew healthy and strong, pmd“Cing

would boost the

v
tunatelv . was poor.
Untortunaiely ay flowering stage, most of his plants withered and the harvestwas p

0.1} papeo jumog
S
-

Ot are provided wig, the two solutions A and B which are of different concentrations of B
Sertilizer ysed by the ‘

- o . ined from the ,
- ™Wo farmers and specimen Q which is a plant part obta Plantg
%“’“ﬂ by the twe farmers,
Fask:
Besign and carryout a scientific investigation on solutions A and B using Specimen Q and yg,
JIUr "’5“1_‘5 (o explain why Simon had a poor harvest and advise the farmers on the corregy
cgncentration of the fertiljzor to be used.
@

Y@ur design and Investigation should include the following;

3

(a)< (1)  Aim, Hypothesis and variables
(@]
c

\s Jgded jsed|wn |h2 1 41n2 (Mau| 8 1au pRO |[UMop ue#
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[tem 2
Mr. Okello, a farmer in Li
% i in Lira grows :
the middle of the gar e a number of crops in his gar i :
garde - : garden, includi .
Farrow parallel vei en he grows crops with broad net veined 1 : & bean; e, pmatets,
Jou ar id 1emed leaves at the edge of the garde eaves and grows plants with
are provided wi 20 : (CELT
ith specimens R. S and T obtained from Okello’s garden.

Fask
sf‘d) With reasons, identify
, identity the plant organs from the specimens that were obtained from

= Okello’s garden.

e e R—
btained from the middle of the garden are adapted

the specimens that were 0

b)  Explain how
for their functions.

‘ —_
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\s Jaded 1sed wn |N2 111N2 MaU 8 .1au pPeo |[UMOP ued NOA WOD "BuU | |UOO INU MWW WO 1} papeo |[umod

Draw and label the main parts of
Okello’s garden.

a specimen that was obtained from the edge of
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